FUNCTION NOTATION

Algebraic (How to Write It) Verbal (How to Read/Say It)

(fog)(x)zf(g(x)) “fofgofx”

Making Observations

>

= N
X h(x)

-2 -28
f(x)=3x"+1 g(x)=x-2 1 /

0 -7
< ) >
2 14
—
Y
Find the following using the given functions above.
f(~1)=3(-1)" +1 h(0)=-7
=4
(fo9)(0)=1(9(x)=3(a(x)) +1 (hek)(4)=h(k(4))
=3(x-2)"+1 =h(2)
=3x*-12x+13 =14
Verbalizing Observations
Applying Observations
Use your generalization to answer the question below.
Given functions f(x)=3x-5 and g(x)=x* -3, what is the value of f(g(-2))?
(A) -124 (B) —-26 () -2
(D) 1 () 118
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FUNCTION NOTATION

Algebraic (How to Write It)

(f£9)(x)=f(x)=9(x)

Verbal (How to Read/Say It)

“the sum/difference of fand g ”

(fg)(x)=f(x)-9(x)

“fof X times g of X ”

Making Observations

f(x)=3x*+1

Find the following using the given functions above.

(f+9)(x)=Tf(x)+9(x)

=(3x* +1)+(x-2)

=3x"+x-1 =3x>—x+3
(fa)(x)=f(x)-9(x) (f+9)(-2)="1(-2)+9(-2)
=(3x¢ +1)(x-2) ~(3(-2 +1)+((-2)-2)
=3x°—6x*+x-2 =13+(_4)
=9

Verbalizing Observations

Applying Observations

Use your generalization to answer the question below.

Let the polynomial functions f and g be defined as f (X) =2x*—3x and g(x): X2 -3x+4. Let h(X)= f (X)— g(X) .

What are all the values of x for which h(x)=0?
2
(F) —2and —§ (G)

(J) —-land4 (K)

3
H) Oand—
(H) 5
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